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INSTRUCTHONS TO CANDIDATES

You shotld have the following for this examination:
Arswer hpokler;
LXrgwine insirimeris.

This paper-comvists of EFGHT questions in TWO sections A and B.

Anywer any FIVE questions choosing al feast TWE questions from each section.

All quiestions carry eqgual marky.

Meimum marks for each part of @ giestion are as indicated.,

Relevant dexipn tabies gre ariochedd.

Candidates should answer the questions in Englivh.

This paper consists of 5 printed pages.

Candidutes should check the question paper 1o ascertain that all the
pages are printed as indicated and that no questions are missing.
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ECTION A: BUILDING CONSTRUCTION 11
Amsywer af least TWO questions from this seciion.

e four ways in which wind bracing is achieved in framed construction. (6 marks)
Hightight four advantages of framed structures over load bearing structures. {4 marks)

Outline three methods of overcoming excessive stresses st the foundation for framed
construction. {3 marks)

With the aid of a labelled sketch, explain a single storey rigid portal frame format.

{5 marks)
State two methods of eradicating mtemal heat gain in curtain walling. {2 minrks)
With the aid of a labelled sketch, explain cerfax hoopsafe underpining. (5 marks)
Dutline two building code requirements for formwark. {4 marks)
State three conditions that necessitate shonng. {3 marks)
Sketch and |abel each of the following hinges and state where each is used:
(i} rising butt hinge;
(i) band and hook hinge.

8 marks)

Figure 1 shows the arca to be taken by a stair. Using the data provided:
i} design the stair,

{1i) 1o a scale of 1:50, draw the plan of the stair indicating nsers and treads,

{ 1marks)
Floor t headroom height 2550 mm
Slab thickness E50 mim o
Width of fiight HO00 mm ' e
Wall thickness 200 mm _ R . K
Rize 150 mm dAn m
Landing 1200 mm
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